
Math 1432 Classwork for Week 13  Work in groups of 3-4 and be prepared to present your answers. 
 
 
1.  Convert (2, 

 
π

3 ) to rectangular form. 

2.  Convert (6, -3) to polar form. 

3.  Convert  x2 + y2 – 6x + 2 = 0 to polar form. 

4.  Convert  r = 2 sec θ to rectangular form. 

5.  Graph the following: 

 a.  r = sin 3θ    b.  r = cos2θ    c. r = 2sinθ    d. r = 3cosθ   

 e. r = θ    f. r = 1− cosθ   g. θ = π
3

   h. r = 1+ cosθ   

 i. r = 2 − 4sinθ   j. r = 3+ 6cosθ   k. r = −1− 2cosθ   l. r = 1+ 2sinθ   

6. What is the area inside the curve  r = 2 cos θ and outside the curve r = 1?  Graph and shade the region. 

 

LOOK OVER THE SEQ & SERIES WS POSTED ON 4/16!  I will be posting solution videos soon. 


